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4.4B Graphing Linear Equations in Slope Intercept Form_Classwork
 Objective:  Analyze graphs to determine slope, y-intercept, x-intercept and equation of the line.  CCSS:  8.EE.6
      	 HW:  4.4B worksheet
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	1a.  Graph .  Identify the x-intercept.	     1b.  Graph .  Identify the x-intercept. 
       slope:  _______       y-intercept: _______                         slope:  _______          y-intercept: _______
        				                                       
                                           x-intercept:  ______				                        x-intercept:  ______                                      
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	2a.  Graph .  Identify the x-intercept.	         2b.  Graph .  Identify the x-intercept. 
       slope:  _______       y-intercept: _______                         slope:  _______          y-intercept: _______
        				                                       
                                           x-intercept:  ______				                        x-intercept:  ______                                      
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For the equation -3x + 2y = -8




	1.  Solve for y









	2.  Identify the slope and y-intercept

      m = _______         (slope)

      b =  _______         (y-intercept)



	3.  Graph

[image: ]
	4.  Identify 3 solutions of the equation 
     (pick 3 ordered pairs that lie on the 
       line)

	5.  Pick one of the points from #4 and prove algebraically that it is a solution
     (HINT:  Substitute the x-coordinate for “x” and the y-coordinate for “y” into the 
      equation)
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Intercepts
The x-intercept of a line is the.
x-coordinate of the point where
the line crosses the x-axis. It occurs
wheny =
‘The y-intercept ofa line is the
y-coordinate of the point where
the line crosses the y-axs. It occurs
when x = 0.
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